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ERATS . EHm BEE—8 REB=H
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s g . Ei HEE A B e  {BE Ei HEE ki ME |mal  EE
BRI (R24) %R NV ATIRSY| 250 fE g EAHE, 3451 150| ke
FEHh HErE e BE |mul  {EE HE 7Y 5 100| 4@ AT ENES 50| ke
x5 B $t'131°3k 300| {& 1) HHR. Lyast 350( 18 Bt 2,700 kg
= Hh INFI4TY 150| & =g K1t 100| & 240 &
B Yy INPY 5k 300| {& hE FEF 1R 50| 1
KP4k 300( f& 1] Lyast 50| & = =
BE |25 200| @ =5 ks 50| & BERAMS B
BH b i) 200| {& 5800 & EXEN
FUFEL) & 5
9L A Y5k & EEE=5 RRER
IMNFV 6k & ] Bt HEE Pt BE |l FE
EiR k4 th7y 4k & KA bi7::0) 8 =244 3,000| #&
VATV Tk 100| {& Eit HEE it = |[mel  {HE Banist BNTY 300| ¥
ERB i INPY 4~5k 300| {& i ExE Yy1hst 600( & BERBN [Ava95  |Ehon'F 1,000 A4
= W3 TIYN'E~6A & 7%, ¥2°4 350( 1@ =#45 #EEI2 100| &
5t 1,950 @ R4 FALY. Y4 100| & E30) 8 Wt ENVT 250| &
ERER Yy1hst 1,000 @ s E- 7V & 50| &
EEE_ fEiR YU4h, 7V°45 200| {& BEN KEWS  |EBEFS 300| kg
BhkEE 1= Yy1hst & &t 300 kg
JKes PV VES) 100| & 1,400 A&
FEHh HErE Rz = |[Ee #HE RE#EN [v1hst 100| f& 3,300 &
FIF IMEE 1435 200/ {& BER E53°44 400| &
i85 Foik ot 100| {& g #7°, Hnst 100| & STERD
D) TV, e1hst 100 {& IMER UET) 300| & t75iE
) 14% & R B¥F KTEA 100| &
Bak 14%. h7°45+ 100| & HEE 100| {8 Eit HEE it = [He]  {HE
AR Vo IE 327N 50| {& ER KT K75 100| & HE 5 = #H'T 1,000( kg
HAE b bz Moy )N 150| {& kR KTV R 150( & T 150( kg
®F A & BS &4 100 ke &= 600| #
(OEP: N2 50| & ¥ hIzxs 150| {& ov7a  [FENS 500| #&
SEKAD, 4454 200 kg b2 ke ;7.8 =HEN THY 1,000| kg
Bk EUL)S & REA FX FREIAS 100| & s AKESN |EIF 100| ke
X5 it 3 AR ¥5b 50| {& ERS Kerot ATIR 50( & PES =S P! 100( kg
REAR (Lo VIR 50| {& &t 100 kg BE A5 T4 50| kg
ERE 1TSS Ehy# 160| {& 4,000 {& 5 2400 kg
WE 50| {& 1,100 #%
= =58 L3224 100| & 5
& 47 100| {& AR &5t 5700 kg
el =1 $92hL154 120| {& Ei HEE faE HE |uwl  (EE 13,370 &
g 200 kg Fi& L35 EEIA5 150( ke 1,400 &
1,380 & A FEAVF 45 150| kg 4,400 #
BE FBEIAL EFT'4 600| ke
NN Aot &4, a5t 800| kg
RER BifR &4 150| ke
Eib HEE piti = |[Ee|  HFE & ETHT 50| ke
il Ficy: -} 1Maq4% 1,600( {& HER 1% 240| &
A 700 {& 7 Iz&E AL 100| kg
=E 850( {& i) E5 100| kg
fiais 1,300| {@ wKst FEFA FaEH 100( kg
kst 300| {& tam Fiich:: Frf LTS 100| kg
HiEAH 100 {& ZR FBARE, 4254 200| kg
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